TR3IERE

—RAFEBREE #7 HEHIE

BB ESEER
HE ¥ a1 — 2 7T A (FEHFEOTMHIATLEZEIW)
1. 2N 2. il T4 3. e T 4.7 RN
HoB B ¥ K % B B B 70 HF
£ %
G
. W
i % " A W m oM
eY) @) ®) @)
05a+23b
od — 0v 2 (xd 6)(xd 2)
24
(5) (6)
1 5+ v 13
T= e y= 3x05
(7) (8 9) (10) /NET
1 80 2m 4 i 96
3
8Y)
7 4
27x 6400 y
2 @ ®3) INGE
7 21x T 3200y d 20
o) B ®)
o= = y= x04 30
3 2
@ et
® ®
y= 0 L x04 04
8
8Y)
® ® ®
V3 2 V3
4 3
@) 3) /INET
: v 2
135 V2
2 Tt
(1) (2) ®3)
2V 2 1 2V 3
5 ) (5) /NET
2 1
?T[ ?Tl'



liberty
タイプライターテキスト
－１

liberty
タイプライターテキスト
24

liberty
タイプライターテキスト

liberty
タイプライターテキスト
－5a + 23b

liberty
線

liberty
タイプライターテキスト
－√2

liberty
タイプライターテキスト
(x－6)(x－2)


liberty
タイプライターテキスト
5±√13

liberty
線

liberty
タイプライターテキスト
6

liberty
タイプライターテキスト
3x ＋ 5


liberty
線

liberty
タイプライターテキスト
3

liberty
タイプライターテキスト
1

liberty
タイプライターテキスト
8－2π

liberty
タイプライターテキスト
4

liberty
タイプライターテキスト
96

liberty
タイプライターテキスト
27x

liberty
タイプライターテキスト
640－y

liberty
タイプライターテキスト
21x

liberty
タイプライターテキスト
320＋y


liberty
タイプライターテキスト
20

liberty
線

liberty
タイプライターテキスト
2

liberty
タイプライターテキスト
１

liberty
タイプライターテキスト
x＋4


liberty
タイプライターテキスト
30

liberty
タイプライターテキスト
－

liberty
線

liberty
タイプライターテキスト
8

liberty
タイプライターテキスト
7

liberty
タイプライターテキスト
x＋4

liberty
タイプライターテキスト
－4


liberty
タイプライターテキスト
√3

liberty
タイプライターテキスト
2

liberty
タイプライターテキスト
√3

liberty
線

liberty
タイプライターテキスト
3

liberty
タイプライターテキスト
135

liberty
タイプライターテキスト
√2

liberty
線

liberty
タイプライターテキスト
2

liberty
タイプライターテキスト
π

liberty
タイプライターテキスト
2√2

liberty
タイプライターテキスト
1

liberty
タイプライターテキスト
2√3

liberty
線

liberty
タイプライターテキスト
3

liberty
タイプライターテキスト
2

liberty
タイプライターテキスト
π

liberty
線

liberty
タイプライターテキスト
3

liberty
タイプライターテキスト
1

liberty
タイプライターテキスト
π




